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into two sections — Section-A and

Section-B.
Section-A, there are
70 objective type questions,

out of which any 35 questions
are to be answered. If more than
35 questions are answered, then
only first 35 will be evaluated,
Each question carries 1 mark.
Darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener /
liqguid / blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which
any 10 questions are to
be answered. Apart from these,
there are 6 long answer
type questions, each carrying
5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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wyug - A/ SECTION - A
aﬁﬁﬁ Uy / Objective Type Questions

mmlﬂmaﬂ?%mm#ﬁqwmfnmtﬁfﬁ
3 TH W@ & | o FWT 9 0 W e F OMR vite W b B
AUF 35 TN F I A E | 35 x 1 =235

Question Nos. 1 to 70 have four options, out of which only one
is correct. You have to mark your selected options on thf-':*
OMR sheet. Only 35 questions are to be answered. 35x 1 =35

pataer guen iy e e fear w2
A5F 1986 (B) 1988

(C) 1992 (D) 1995

When was Environment Pro-tection Act implemented ?
(A) 1986 ' | (B)- 1988

(C) 1992 (D) 1995

FHEae e T A fRE 2 ¢

(A) T ' (B) TRYN

(C) wieH (D) TR

 Kakrapara is situated in which state ?

(A) Goa (B) Rajasthan
(C) Karnataka (D) Gujarat
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3. gaEiwdwni v

(A) w8 (B) e &

(C) o= &3 (D) 39S &F

What is Mumbai High ?

(A)  Coal area (B) Petroleum area

(C) Copper area (D) Mica area
4. W e A vaifeRt wig ¥

(A) wraen F B

(B) giferam % ferg

(C) g e & forg

(D) ¥ & fore

Baba Budan hills are famous for

(A) Coal (B) Petroleum

(C) Iron ore (D) Mica
5. Peidashdftsagrdamfosw ?

(A)  faEm (B) Wy

(C) T /tb/]'/fm we

Which of the following is a leading state in sugar production ?

(A) B_ihar (B) Maharashtra

(C) Goa | (D)  Uttar Pradesh
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6. Fere fhg Uy o sEfR@ R 7
(A) T (B) WENE
S . LU (D) dfeEm e
Vadodara is situated in which state ?
(A) Goa (B) Maharashtra
- (C) Gujarat (D) West Bengal
7. wersufrmmil
(A) T (B) T
(C) Efwamm (D) wAH
Harike barrage is in which st-ate ?
(A) Rajasthan " (B) Punjab
(C) Haryana (D) Karnétaka

8. it ToA T 8
(&) TAE | ' (B) qivew s #

(C) F=H (D) dfterTg ®

Kochi port is situated in

(A)  Gujarat (B) West Bengal
(C) Kerala (D) Tamil Nadu
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9. 2011 H FAUFT F FTEN WA H FEE B
AT 121 T (B) 1253

(C) 130w (D) 135S

According to 2011 census, the population of India is

(A) 121 crores (B)- 125 crores

(& 130 crores (D) 135 crores
10. 2011 ¥ 9RA ® FHF S9aE o

(A) 31.16 wfawa __{By—30,fcw1a

(C) 35 whawa _ (D).~ 40 Wfas@

Urban population in India in 2011 was

(A) 31.16 per cent (B) 30 per cent

(C) 35 per cent (D) 40 per cent
11. fosmes &1 o= 2 )

(A) USH AT @ (B] UTsUeIEd @

(C) &g ATt (D) =g @

Gibraltar is related to

(A) Roadway ~ (B) Pipeline

(C) Sea route (D) Airway
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1o, wRa # 2011 & wfken gawar ged F4 o
) feew d (B) BTG H
(C) wewewH (D) ¥REE H
The.lowe;;t female literacy in India in 2011 was in
(A) Bihar (B) Chhattisgarh
(C) Madhya Pradesh (D) Jharkhand
13, Jae TR 8 |
(A) &SR (B) TETH
(C) =™H (D)., g q
Robusta is associated With.
(A) Rice (B) Sugarcane
(C) Tea (D) Coffee
14, T TR
(A) HIEH B) ==X
© ™MH D) & w7
fﬂarrna is éssociated with
(A)  Cotton (B) Tea
(C) Wheat (D) None of these
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W wle wEl R 2
(A) W B) P
C) g (D) SR

Where is Port Said ?

(A)  Morocco (B) Eéypt
(C) Portugal (D) Algeria
Frfafga 3 =5 s f ouft @ 2

A) Rreh | (B) ¥Ew
c) vud (D), e

Which of the following is.the capital of Australia ?
(A) Sydney (B) Canberra

(C) Perth (D) Melbourne
U2 A Semr! forg weew @ g=fRE 2 7

(A) T (B) uhRm
(C) 3T (D) I8 IAiE

The Great Lakes waterway is associated with which continent ?

(A) Eurcpe (B) Asia
(C) Africa - (D)  North America
__--""'i
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18, = 8 #9 & Frlg guen @ 7
(A) 91 g B) UFTd H wHl
() wfer w=f Dy 8 4 ooft
Which of the following is an urban problem ?
(A)  Air pollution (B) Scarcity of drinking water

(C) Slum (D)  All of these
19.  HIATER T Fal 8 7

(&) (B) Ik H

(©) FIH (D)., IR |
Where is Kalahari desért ?

(A) In Asia (B) In Africa

(C) In-Europe (D) In Australia

20. fafem & gy 2
() fEag (B) THIA
©) Frem by TR

The capital of Sikkim is

(A) Dispur (B) Imphal
(C)  Shillong (D) Gangtok
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21, ot T AR

A BHtETg (B) T

(C)  w@& W (D) T

Bailadila is in which state ?bsebresult.in

(A} Chhattisgarh (B)  Gujarat

(C) Madhya Pradesh | (D) Goa
22, A ¥ BN a0 s F s g 2 7

(A)  HT weW (B) HERI®

(C) IWwRw (D). .oy

Which of the following“is the leading state in bajra production ?

(A) Madhya Pradesh (B) Maharashtra

(C) Uttar Pradesh (D)  Assam
23, fomand wfeg 2

(A) o F for {B)—fzm ¥ frg

(C) dfar % form (D) Wi F for

Digboi is famous for

(A) Iron (B) Petroleum

(C) Copper (D) Silver
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04, P # A B AwE Ieared # oft I R 7
(A) TGS By 3nfEm
(C) Ufved s (D) faEw

Which of the following is the leading state in Mica production ?
(A) Jharkhand (B) Odisha
(C) West Bengal (D) Bihar
25. Teawe fre TR # R 7
(A)  ToeyH o (B) IR WeHH
(€ T A (D). cTia &
Rawatbhata is in which state ?
(A) Rajasthan. (B) Uttar Pradesh

(C) Gujarat : (D) Goa

26, P YW ot W s A R 7
,/{mfﬂh St B)' & Wk

(C) e St (D) T St

Which one of the following is a non-renewable source of energy >

(A)  Solar energy (B} Hydel power
(C) Wind energy . (D) Thermal power
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27.  WHER W T v R 7 g o 7

A 1964 # (B) 1965%

(C) 1966 % (D) 1984

In which year was Bokaro steel plant established ?
(A) 1964 (B) 1965
(C) 1966 (D) 1984
28. WA ® o gt B o e waT g o 7
(A)  HISHEr (B) i
© wat (D), & =]
Where was the first cétton mill estaﬁ]ished in India ?
(A) Kolkata (B) Gandhinagar

(C) Mumbai (D) Dhanbad
29. FrdadsNama e s sarm 2 ?

(A) 3™ W (B)  &wHal I9TH

(C)  HedTIT IATTH (D) T 4 o

Which of the following is an approach to human development ?

(A) Income approach (B)  Capability approach
(C} Welfare approach (D)  All of these
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30. fim ¥ @ #1 gt frarean @ aafa 2 2
(A)  @H . “ard
(C) W TEER (D) FETIAM
Which of the following is associated with tertiary activity ?
(A) Mining (B) Services
(C) Food grocessing (D)  Cottage industry
31. WAGES ITET g
(A) HmREE FRH B) faft FH
(C) THA FN H (D) . &0 & HIg T
Kolkhoz is an example of
(A)  Collective farming (B) Mixed farming
(C) Monoculture (D) None of these
32. 3R H TN gEfE 2
(A) T & H
(B) YA &TR
(C) VHTHErTE &3 8
by 3 e 4w @
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Viticulture is related to
(A) Monsoon region
(B) Polar region
(C)  Mediterranean region
(D)  Tropical region
33. fogdidifrRgmmesfad ¢
(A) dfs 9§ (B) @RIH
(C) S gE (D), &8 g
Chewing gum is related to"which of the following treas ?
(A) Palm tree (B) Date tree
(C) Zapota tree (D) Rubber tree
34. Wfice IR g wEl @ & 2
(A)  dH B) e frew
(C) W (D) i
Where is Sheffield industrial centre situated ?
(A) China (B) Great Britain
(C) France (D) Germany |
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35. UATHI T8 H oA fradt & 7

(A) 60 frerfi (B 72 e

(C) 50 framtet (D) 160 feremfiex

What is the length of the Panama Canal ?

(A) 60 km | (B) 72km

(C) 50 km (D) 160 km
36. g8g ¢ Wnl gwfa ?

(A) W& T a

(B) 9ATHT TE ®

(€) Iul areaifes wqft wni &

(D) T 8 SR T

Big Trunk Route is associated with

(A) Suez Canal

(B) Panama Canal

(C) Northern Atlantic Sea Route

(D) None of these
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37. IF T« Az R

A)  wE-TR B) wfetq-df@
(C}  WRg-Te (D) o0 & HE T

Channel tunnel connects

(A)  London-Berlin (B) Berlin-Paris

(C)  Paris-London (D)  None of thegé

38. WY A AN R R FT G o 2

(A) 1948 (B) 1950

(C) 1951 (D) 1960

When was the Atomic Energy Commission established ?

(A) 1948 (B) 1950

(C) 1951 (D) 1960

39. 3NR¥AM ( ASEAN ) %7 &A™ el 2 7

(A) St B) e

© fgt @) fam

Where is the headquaters of ASEAN ?

(A) Jakarta (B) Tokyo

(C) Delhi (D) Vienna
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40 4RI (NAFTA ) SRR @1g F1 74 2

(A)  Fab i ¥ (B) IThIH B

c) Rma (D) FRfEE

NAFTA regional bloc is associated with

(A) North America (B) Africa

(C) Asia (D) Australia
41, AR SRR SiAET TR AT ]

(A) e S U@ - & TS

(C) W FUH (D)~ | HI3 7E

Circular pattern of settlement is found along

(A) Lake (B) River

(C) Coast (D) None of these
42, S YA FE 8 ?

() T (B) %

(C) SHTh (D) Eteq

Where is Dover port ?

(A) England (B) France

(C) Denmark (D) Sweden
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43. P 3 A I il v 1w T 2 7
(A TN S
(B) sfr:hﬁa;%@a
(C) A e
D) ¥y

Which of the following is not a subfield of Economic Geography ?

!

(A)  Geography of agriculture
(B) Industrial geography
(C})  Geography of'tourism

(D) Military geography

44, mﬁm@mﬁmmﬁﬁm%ﬂm% 7
(B) HATSI

(C) w4 (D) <M=

Which country ranks first in the Human Development Index ?

(A) Norway (B) Canada
(C} India (D)  China
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45. T H ¥ B R frammem T 8 7
A e @) fafwi

)  EEH (D) FER I

Which one of the following is not a secondary activity ?

(A) Hunting (B) Manufacturing

(C) Processing (D) Cottage industry
46. 3 P B TEY

A FH (B) wft

(C) wEaH (D). AR &

Truck farming is associated with

(A) Flowers (B) Vegetables

(C) Rice (D) Wheat
47. YO0 ® AT RTEHIA & 7

(A) ™ % ATH (B) &

() wEE (D) ¥ & HIg T

What do you mean by prairies ?

" (A) Grassland (B) Forest
(C) Desert _ (D) None of these
24 /A /XII-5006-(33/40)
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48, = d @ =R ghe s sam i @ 2

(Al dtET I

B) dhie Iam

(C) e T T I
(D) EH T\ I

Which of the following is not a mineral-based industry ?
(A) Copper industry

(B) Cement industry

(C) Iron and Steel industry

(D)  Cotton textile industry

49.  @IE W@ @ I B

(A) YA I
(B) @ 3N
(C) IR IaM

(D) B W F IAM

Iron and Steel industry is
(A) Basic industry

(B) Footloose industry
(C) Cottage industry

(D) Small scale industry

24 /A /XII-5006-(3a/40)
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50, ETHICHT WM a1 & JFafeud
(A) T A (B) WA
(C) TEM A (D) WEWg #
Naharkatiya minoral oil field is located in
(A) Gujarat (B) Assam
(C) Rajasthan (D) Maharashtra
51. WG & GEQ o= TEA FAAET B 8 2
A) T STt wE 1
(B) THH Fomml & 2
(©) TEE Jemul @ 3
Dy Semr] w4
o
Which is the longest national waterway in India ?
(A) National Waterway No. 1
(B) National Waterway No. 2
(C) National Waterway No. 3
(D) National Waterway No. 4
24 / A/ XII-5006-(33/40) Page 21 / 32
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52. WM o fRE T8 w R ¢ 7
(A)  wrEE (B) Sl
C) e ‘ (D) FwT

Mormugao port is situated on which river ?

(A)  Mandavi (B) Zuari
(C) Narmada (D) Krishna
53. PedadsRy-smgumad ¢
&) famemem (B) gm-ﬁ
(C) wriEen - (D)5 TR

Which of the followingis-a land-locked port ?
(A) Vishakhapatnam (B) Mumbai

(C) Kandla (D) Ennore
54. frafefgs 3 & waifas sgfia @ FA 2 7

A) T BT g

(C) TagH (D) et

Which of the following is the most polluted river ?

(A) Godavari (B) Yamuna
(C)  Satlyj (D) Kaveri
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55, AT fRE QW # i R 7
(A)  SIT9H (B) &4
) ¥ B D) ¥
In which country is Yokohama situated ?
(A) Japan (B) Russia
(C) Great Britain (D) China
56. A AY a1 e e &y w5t g 2
(A) 3098 ¥ FH
(B) 2094 & =
(C) 6094 @ ®HH
,J(D’)fls ¥ 50 9
Which age-group represents the working population ?
(A) Less than 30 years
(B) More than 20 years
(C) Less than 60 years
(D) 15 to 59 years
24/A/XI1-5006-(33/40) | Page 23 / 32
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57.  Proafefes 3ot 2 @ et iR sfve & g mE 2 2

(A} AW (B) Tesht

)  whIwm D) THawh

In which of the following countries were Girmitia labourerg]
brought ?

(A} Surinam (B) Fij

(C}  Mauritius (D)  All of these

S8 feR USe W S9EE uew waits R 7

(A) vfveaw ¥ma (B) feamm

D .

(C) W= (D) Y9

Which state has the highest density of population ?

(A)  West Bengal (B) Bihar
(C)  Kerala (D)  Punjab
su. s g w1 wru R
(A] H AW A © (B) medfeE @
i, mad (D) ¥ & +IF TE

Patrick Gieddes is related to

(A Coanurbation (B) Megalopolis
Cr Village (D)  None of these
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e Tt 3 @ foraeh) e @@ watfus 2 7

(A) T ~ By

() dfirerg | (D) ufeam W

Which of the following states has the highest literacy raie 7

(A)  Gujarat (B) Kerala

(C) Tamil Nadu (D) West Bengal

= & & w1 fafis IR R 7

(A) I (B) W
_AS (D) _ T

Which of the following is’an educational town ?

(A)  Ajmer (B) Srinagar

(C) Roorkee (D) Imphal

e o Q 9 OEE Iqed 3 3 TSE R 7

(A) WA WeW (B) I WM
(C) T (D) faEw

Which of the following is the leading state in Sovbean producuon ?

(A) Madhya Pradesh (B)  Uttar Pradesh
(C) Goa (D) Bihar
24 /A [ XII-50060-(33/40) Page 25 / 32
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63. TR INA # ol e A R ¢
(A) TS0 ' (B) fagr
(Cl FEH : (D) Taftew
Which is the leading state in tea production ?
(A)  Gujarat (B) Bihar
(C) Assam | (D)  Sikkim
64. WRA ¥ 97y aRagd few ad g gan w1 7
(A) 1911 (B) 1936
(C) 1947 (D)~ 1956
In which year was Air.transport launched in India ?
(A) 1911 (B) 1936
(C) 1947 (D) 1956
65. WU frm o d Rk 7
(A) W 3w | | (B) TR
(C) IM W (D) TR
Hazira is situated in which state ? -
(A) Madhya Pradesh (B) = Bihar
(C)  Uttar Pradesh (D) Gujarat
24 /A / XII-5006-(3a/40) Page 26 / 32
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66, HTE oHA fRE R

(a) TErE (B) FAleHH

(C) HAH D) Ffem A

Mangalore port is sitauted in

(A) Goa | (B) Karnataka

(C) Kerala (D) Odisha

67. Eh yy HIET RFE g & i ® 7

, - |

. W (B)  T&T Q¥
(C) & I (D) T Weuw
Smog is associated with which pollution ?

(A)  Air pollution (B) Soil pollution

(C) Noise pollution (D) Water pollution
68. freferRad # @ H7 Gaifs @ ¥au T 2 ?
(A) HEH (B) ufvaw s
(©) T (D)
Which of the following is the most drought prone state ?
(A) Assam (B) West Bengal
(C) Gujarat . (D) Kerala
24 [ A/ X11-5006-(33/40) Page 27 [/ 32
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70.

Wﬁaﬂ:maﬁ‘ﬁwmwmmw%?

(A)

(B)

{tC)

(D)

U 1
e

7 -Preaame
i & W T

A

What is another name of 'Stop and Go' determinism ?

(A)

(B)

(C)

(D)

Possibilism

Determinism

Neo-determinism

None of these

ITEE IEd HTUTH AR 7

(A)

(C)

=N (B) T3J

T ~BF i

Which is a component of populatian change ?

(A)

(€)

Birth (B)© Death

Migration (D)  All of these

24 /A /XII-5006-(33/40)
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w|vy - ¥ / SECTION - B
Y AT W / Short Answer Type Questions

v W 1 @ 20 Wy I ¥ | fredt 10 wet & T E | g % AT
2 3w Praifta ¥ 10 x 2 =20

Question Nos. 1 to 20 are Short Answer Type. Answer any

10 questions. Each question carries 2 marks. 10x2=20
L o e e 3 R | 2
Write the names of two Trans-continental railways.
2. e 7 2
What is outsourcing ?
3, 8 W ¥ Y w1 wwwa & ? 2
What do you mean by hinterland ?
4, TA-GW VEET FR 7 2
‘'What is watershed management ?
5. HHENR AR ? 2
What is free trade ?
& i e et # o d 7 2
What is the difference between rural and urban settlements ?
7., gl Ry i e Rt Q w5 g B >
Mention any two factors influencing the location of industnies.
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g fawa ¥ A R =R wE % AW A | 2
Write the names of two regional trade blocs of the world.
Q e fwE * E-1£ @yl &% 9™ ﬁ-‘!‘f@"{ | 2
Namc four pillars of human development.
10 el S e @ T T w4 2 2
What do you mean by the composition of working population ?
xR ¥ Y sia 2 I & T R | 2
Write the names of two agro-based industries of India.
T12 WA # YEee GHE % ST WY | 2
Explain the causes of drinking water crisis in India.
3 WA ¥ WR SRen & ¥ A R | 2
Name four coal fields of India.
cia ufm et ® R ? 2

What 1s slum ?

15, HEE 1 VI F R 7 2

What is naturalisation of humans ?
16, 9TA % fodl 9r @ wEd % T fafee |

Name any four Rabi crops of India.

|24 /A/X11-5006-(33/40)
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17, AU N B A9 T wawa £ 7 2
What do you mean by density of population ?
18, WA % g 7¢ W orafera °w el & T A | 2
Name four ports located on the eastern coast of India.
Z

19 . WHE it ¥ 2 Suast & Fm fafee |

Write the names of two subfields of Human geography.

26, 'gﬁémﬁfﬁtﬁ@mﬂmm'

Mention the location and importance of Mumbai port.

Ziet Iwa 99 / Long Answer Type Questions
vy wE 21 ¥ 26 g IE ¥ P AR A TR Y | TAE E
fra 5 o Fraifter € 1 3x5=158

Question Nos. 21 to 26 are Long Answer
three questions. Each question carries 5 marks.

51w e ity B Rt w1 ot A |

Describe the characteristics of green revolution in India.
0y W VYO R T wftrw oot fafee |

Write a short note on water pollution.

b3 e frate F B Rdwae 1 sg@ A |

Mention the characteristics of intensive subsistence agriculture.

24. _ag’immﬁmavhaﬁﬁm

Describe quaternary activities.
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25. W@ ¥ uﬁmﬁmﬁhmﬁmmmmaﬁqﬁ 5

Give a briefl account of the role of rail transport in the economic

development of India.
26 WA ¥ R WAy v Prafaie ® vt S 5

(@) T AE

® R

() TRy

d)

() ==

Draw a map of India and show the following :

(a) Narmada river

(b)  Delhi

(c) Jamshedpur

(d) Mumbai

fdare i A Fdfda @aft srarsdl,
(¢) Chennai. Beee TG, V%5 U7, , Befde
UES uTe & f3e...
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